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2 Listen and complete

market    baker’s    park    hospital

A. a park     B. a baker’s     C. a market     D. a hospital
 

3 Look and say

Now, this is a sports centre. In the past, the sport centre wasn’t
there. It was chemist’s.

Now, this is a train station. In the past, the train station wasn’t
there. It was a school.

Now, this is a restaurant. In the past, the restaurant wasn’t there.
It was a bookshop.

Now, this is a market. In the past, the market wasn’t there. It was
a butcher’s.

 

4 Read and match

Quraish Street (d) was a river in the past.1.

The fountain (c) was bigger in the past.2.

The pool (a) wasn’t for swimming.3.

The water in the pool (e) was from the river.4.

The houses in the street (b) weren’t her in the past.5.


